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Choose the correct option          (1 X 15= 15) 
 

1. The area bounded by the straight lines 2x = 3y , x = 3 , x = 5 and  x-axis (in square unit) is –  
a) 16 
b) 8       
c)  4          

d) 
𝟏𝟔

𝟑
 

 
2. The area bounded by the curve 𝟐𝒚𝟐  =  𝟑𝒙 , &  y = 1 , y = 4 and  y-axis (in square unit) is – 

a) 7 
b) 14 

c) 
𝟔𝟒

𝟗
 

d) 
𝟏𝟏𝟎

𝟗
 

 

3. The area bounded by the curve 𝒚 = 𝒄𝒐𝒔 𝒙 ,  x-axis and the two ordinates 𝒙 = −
𝝅

𝟐
   & 𝒙 =

𝝅

𝟐
    

(in square unit) is – 
a) 2 
b) -2 
c) 1 
d) -1 

 
4. The area bounded by the curve 𝒚 = 𝒔𝒊𝒏 𝒙 ,  x-axis and the two ordinates 𝒙 = 𝝅   & 𝒙 = 𝟐𝝅    

(in square unit) is – 
a) 1 
b) -1 
c) -2 
d) 2 

 
5. The area bounded by the straight lines 𝒙 + 𝟐𝒚 =  𝟖 , x = 2 , x = 4 (in square unit) is – 

a) 2 
b) 3 
c) 4 
d) 5 

 



 
 

6. The area bounded by the curve 𝒚𝟐 = 𝒙 ,  the straight line y = 3 and  y-axis (in square unit) 
is– 
a) 8 
b) 9 
c) 11 
d) 12 

 
7. The area above the x-axis bounded by the straight lines 𝒙 − 𝟐𝒚 + 𝟒 = 𝟎 , x = 3 , x = 6 (in 

square unit) is – 
a) 51 
b) 32 
c) 30 
d) None of these. 

 
8. The area bounded by the curve 𝒚𝟐 = 𝒙 ,  the straight lines x = 1 & x = 9 and  x-axis (in square 

unit) is– 
a) 51 
b) 52 
c) 53 
d) None of these. 

 
9. The area (in square unit) bounded by x-axis and one arc of the sine curve 𝒚 = 𝐬𝐢𝐧 𝒙 between 

(0,0) and (𝝅, 𝟎) is –  
a) 1 
b) 2 
c) 3 
d) 4 

 
10.  The area (in square unit) bounded by x-axis and one arc of the cosine curve 𝒚 = 𝐜𝐨𝐬 𝒙 

between (
𝝅

𝟐
,0) and (

𝟑𝝅

𝟐
, 𝟎) is –  

a) 2 
b) 3 
c) 4 
d) 5 

 
11.  Find the area(in square unit) in the fourth quadrant bounded by the curve 𝒚 = 𝒙𝟑 − 𝟖 and 

the co-ordinate axes –  
a) 10 
b) 11 
c) 12 
d) 13 

 

12. The area bounded by the straight lines 𝟑𝒙 − 𝟐𝒚 =  𝟔 , y = 0 , x = 4 (in square unit) is – 
a) 1 
b) 2 
c) 3 
d) 4 

 



 
 

13. The area bounded by the straight lines 𝟒𝒙 − 𝒚 =  𝟑 , x = 1 , y = 0 ,  x = 3 (in square unit) is – 
a) 10 
b) 11 
c) 12 
d) 13 

 
14.  Find the area (in square unit) enclosed by 𝒙 = 𝒂 𝐜𝐨𝐬 𝜽 , 𝒚 = 𝒂  𝐬𝐢𝐧 𝜽 –  

a) 𝝅𝒂𝟐 
b) 𝝅𝒂𝟑 
c) 𝝅𝒂𝟒 
d) 𝝅𝒂 

 
15. Find the area (in square unit) enclosed by 𝒙 = 𝒂 𝐜𝐨𝐬 𝜽 , 𝒚 = 𝒃  𝐬𝐢𝐧 𝜽 –  

a) 𝝅𝒂 
b) 𝝅𝒃 
c) 𝝅𝒃𝒂𝟒 
d) 𝝅𝒂𝒃 
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